(DCM 21)

M.Com. (Final) DEGREE EXAMINATION, DECEMBER - 2015

Paper - I : INTERNATIONAL BUSINESS

Time : 3 Hours

Second Year

Maximum Marks: 80

1)

b)

d)

f)

9)

h)

Answer Any Four of the following

SECTION-A

Origin of WTO

WTO DeE

Comparative cost

éﬁ)e)a"’ééé ééoﬁ)éu)

Components of culture

K)ox)b —& eoT°en

Strategy

@"53"0

Objects of ADB

ADB o g0

Regional groups

[BroRaDH Sooeten

Direction of business

FegrE0 B3

Bilateral agreements

55:)5‘ 8.::)“)05"8).)

(4 x 5 = 20)



2)

3)

4)

5)

6)

7)

8)

9)

SECTION-B

Answer Any Two of the following

Distinguish between domestic business and international business.

B330H T, epoéo;éacm T8I0 H06g BEeen BeoHI.

Describe the process of international business.

©0STHADH T8 (SEAH DSBoBI.

Give an account of multinational corporate culture.

©oSTBAD HoFe Ko, —B8D BeoH0.

What is the trend in the international business of LDCs?

LDCeo eooéo;&oﬁo méavéaneS‘X) D8EL DM ?

SECTION-C

Answer Any Two of the following

Critically analyse the working of WTO in the recent past.

3839 s03008° WTO cing), 33 S50k ddgmedygore 0w,

Bring out the HRM practices of MNCs.

MNC o HRM éao)éoo«‘éo BenPHI.

How do you measure the performance of MNCs?

MNCe 52 #35855050 Beye o360

Give an account of strategic planning in MNCs.

MNCos® grgras 5e 98582350 DSIB0WSN.

'

'

'

(2% 10=20)

(2 x 20 = 40)
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M.Com. (Final) DEGREE EXAMINATION, DECEMBER - 2015

Second Year

Paper - II : MANAGEMENT OF INFORMATION SYSTEMS

Time : 3 Hours

Maximum Marks: 80

1)

b)

d)

f)

9)

h)

Concept of MIS

MIS grss

Systems analysis

I3 Z)§;isa

Software

2536

Machine Language

alo°o |8 g°s,

WAN
0

Data filing.

@e POoR

SQL

oHD EUN NT5)

Multiplexing

SECTION-A

Answer Any Four of the following

(4 x 5 = 20)



2)

3)

4)

5)

6)

7)

8)

9)

SECTION-B

Answer Any Two of the following

How is MIS treated as an integrated system?

MIS & 33015 SgOP e SBKEBB?

Give an account of system development life cycle.

3553 )8 BOB (550 1008y OB,

What are computer networks?

SoIrgtod edsen AW ?

State and future trend of MIS.

MIS c30%), gs:msé DEEESD BenHSn.

SECTION-C

Answer Any Two of the following

Explain the concepts used in data communication.

JS3oPT°E 50BH30S° IIATCR0D grSSen DSBS,

Describe the components of database.

Database &% eomren 958050.

Bring out information resource management.

J3°a°8 SdBoe X)éSZJ‘S'aéJ Se0HI0.

How do you control projects?

BBHOD Je DoHoBAH?

(2% 10=20)

(2 x 20 = 40)
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M.Com. (Final) DEGREE EXAMINATION, DECEMBER - 2015

Second Year

A - ACCOUNTING

Paper - III : Advanced Financial Accounting

Time : 3 Hours

Maximum Marks: 80

1)

2)

b)

d)

f)

Social balance sheet

Do00E e3R) )0 sﬁeg

CPP method

CPP 548
@

Unrealised profit

m&&gg‘m P00

Reconstruction

@«583528’8&)

Kinds of goodwill

HEIS Bseen

Quick Ratio

B0 D48

SECTION-A (4 x 5 =20)

Answer Any Four of the following

SECTION-B (2 % 10 = 20)

Answer Any Two of the following

From the following, calculate the value of goodwill at 3 years purchase of super profits:

a) Average capital employed in business Rs. 6,00,000



3)

4)

b) Net trading profit of the firm for the past three years Rs. 1,07,600, Rs. 90,700 and Rs.
1,12,500.

c) Rate of return expected on capital invested — 12%.

d) Fair remuneration to the partners for their services Rs. 12,000 per annum

e) Sundry assets of the firm Rs. 7,54,762.

Current liabilities Rs. 31,329.

B1HS dSoreod OBBE orgre orwd JoIEBES0e o ofen egedor HEDS Hooeerg08HS0

dovod:

) TErBos’ &) SKew Saregso 8. 6,00,000

b) K& Soorcd x)oaséacoeess o ¥, AL ergren S 8. 1,07,600, 85, 90,700 So8asn &
1,12,500.

C) Sooreds 3)&)8&)&:.3 &30 ergio Bew - 12%

d) rrRe ved 390l B& EI0 5038078 8. 12,000

8) B0R DY, FeOe ere Jewd &r. 7,54,762, (508 ey 6. 31,320.

X company has a share capital of Rs. 2,00,000 divided into 10,000 equity share of Rs. 10
each and 1,000 6% preference shares of Rs. 100 each. The company in its general meeting
proposed a dividend of 10% on equity shares. The preference dividend is yet to be paid.
Reserves and surplus are worth Rs. 80,000 and other liabilities Rs. 25,000. The realisable

value of tangible assests Rs. 3,00,000. Ascertain the value of shares.
X %028 8. 2,00,000 © MregIsn o, oA Toer 8. 10 5°5),8 10,000 éa§5e§ JreIeen

208050 Foe &3, 100 55,8 1,000 63780 e35EgH) Terent DgRoIERNB.

0] Agrde $33908° 58 Terep 10 TBo EIBo PFEIBoT L. B Tered EdBok
505° DYoBS. Bestgey, WL, &r. 80,000 A 2BE GFyed &r. 25,000 &3, eiep

éKJJ‘e)o'i)zS Dens 8. 3,00,000. 0D TeTee eS8 SR80,

Explain the objectives of financial accounts.

% w8 oe3oh oz® 520 DS3BoWoH.



How is minority interest computed.

©0)I0gHO &8 Jex° K3t

SECTION-C (2 x 20 = 40)
Answer Any Two of the following

From the following Balance Sheet Achyutha Limited as on 31.3.2008 calculate:

a) Liquid Ratio.

b)  Current Ratio.

c) Fixed Assets Ratio.
d) Debt-Equity Ratio.

Liabilities Rs. Assets Rs.
Equity share capital 1,00,000 Fixed Assets 1,80,000
Reserves 20,000  Stores 25,000
Creditors 45,000 Debtors 55,000
8% Debentures 50,000 Bills Receivable 3,000
9% Preference share capital 50,000 Bank 2,000

31-3-2008 7°63 @s@® dWBE esR-ws),0 Sdo Lod
a) 183958

b) wNs 53

C) 2o°R %3

d) 586 aoeo DB 88 0308.

©3y,e0 8oe. esen goe.
6883 e SorerSsn 1,00,000  RoeRyen 1,80,000
Besthoen 20,000  RsEdy 25,000
200085°Be0 45,000  evossfyen 55,000
8% &B038) 50,000  Sxoren Svoden 3,000
9% esQED) e SreEssn 50,000  emoHe® $K 2,000

2,65,000 2,65,000



7)

The income statement for the year ended 31* December, 2005 and the balance sheet of R

Ltd., as on 1% January 2005 are set out below.

Income Statement for the year ended 31% Dec., 2005

Rs. Rs.
Sales 1,50,000
Cost of goods sold:
Opening stock (FIFO) 30,000
Purchases 60,000
Cost of goods available for sale 90,000
Less: Closing stock (FIFO) 10,000 80,000
Gross profit on sales 70,000
Operating expenses 20,000
Depreciation 10,000
Interest on loan 5,000 35,000
Retained earnings 35,000
Balance sheet as on 1* January, 1998
Rs. Rs.
Share Capital 1,00,000 Plant and Machinery 1,00,000
Bank loan 25,000  Stock 30,000
Creditors 35,000 Debtors 18,000
Cash 12,000

Debtors and creditors balances remained constant throughout the year. General price
indices were as given below:

On 1% January 2005 : 200

Average for the year : 240

On 31* December 2005 : 300
You are required to prepare the final accounts for the year 2005 after adjusting price level

changes under CPP method.
31 &noad, 2005 & @oémd’bé K)oéé“)c‘:)g R &Q&3&% 50208008 esmah IIBE 508050 &) 1,0
Z)éé 23338 1, 2005% 50208038 81D aésm&éa. 31 &noadd, 2005 &° eooéé.)di)?s X)o:)é“)c“fog

esaeoDH AIBE



goe. goe.

CEMESY 1,50,000
@0y ISP SgaHs

@809 deg (FIFO) 30,000

SRR’ 60,000

03508 3NI SHe SEHIn 90,000

8| SoRoP % (FIFO) 10,000 80,000
ERNSE e Ryre oogo 70,000
K)é‘sa’)*’sa gpdbw 20,000

SEIHSO 10,000

oDy, & 5§ 5,000 35,000
Dw@g‘é& ergIeen 35,000

838 1, 2005 & &) @3y, 563
-2 e

8oe. 8oe.

TPLT° SIS0 1,00,000  robw So8ato aboseen 1,00,000
W°0% @Sy, 25,000 &% 30,000
2008070 35,000  ewosaiRen 18,000
S 12,000

1,60,000 1,60,000

20063 ({0O), 20EIT°BO X)e:ose)eﬁs De0e S50 8e. EeBes G BD BIHSS adw&os.

33938 1, 2005 : 200
«\’)oééﬁp"ﬁ)g Snew 1 240
31 &oatd, 2005 : 300

§80 oS’ IrneH Shurees 333 soTs CPP 388 [I5°60 2005 So3$0°08 SnRod

PPEOR S0P H0Hod.



8)

9)

Elucidate the role of fundamental analysis in the valuation of shares.

Tee SreroESS” (Y e B DIBEBoWSN.

State the legal provisions relating to reduction of share capital.

BVOLLISTAPN VB éﬁo@& 202080W méoia Q0PI BVFHI.
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M.Com. (Final) DEGREE EXAMINATION, DECEMBER - 2015

Paper - IV : Advanced Cost and Management Accounting
Maximum Marks: 80

Time : 3 Hours

Second Year

A-ACCOUNTING

1)

b)

d)

f)

9)

h)

Cost accountant.

S50 @2°063085

Absorption costing.

5003 SgafroE0.

Cost variance.

Sgad HHBeaa0.

Cost report.

Sgad JIBE.

Allocation.

8000,

Fixed budget.

28 22585,
[} 2

Standard Cost.

[Pearees Seabin.

Life cycle costing.

3508m0% £ 3500,

SECTION-A

Answer Any Four of the following

(4 x5=20)



2)

3)

SECTION-B (2% 10=20)

Answer Any Two Questions

From the following data, calculate labour variances:
The budgeted labour force

20 unskilled workers @75p. per hour for 50 hours.
10 skilled workers @Rs. 1.25 per hour for 50 hours
The actual labour force

20 unskilled workers @80 p. per hour for 50 hours

8 skilled workers @Rs. 1.20 per hour for 50 hours

&3 BIDS DIT°0 espeBomne (B JWBeTrod ngoiﬁo&:

FeS [# Dgy30

20 39eag08 5280 (W50 Hoten, .87 %, Kotd 75 DJew.
10 3Pesgorie 5280 (WSO Hoten, &.87) %), Koeod &oe. 1.25.
T°RDE (B 3)69;333

20 39eag08 5280 (WE0 Howen, .87 %, Kotd 0.80 DIev.

8 PYeagorie S8 (WH0 Hotren, 257 %) Hotd 8. 1.20.

Prepare a flexible budget for the products of 80% and 100% capacity on the basis of the

following information:

Production at 50% capacity 5000 units
Raw material Rs. 80 per unit

Direct labour Rs. 50 per unit

Direct expenses Rs. 15 per unit

Factory expenses Rs. 50,000 (50%) (fixed)

Administration expenses Rs. 60,000 (variable)



80% 08050 100% [BrEDe aayis %88 @%6 aa§95 H0I7°8> Joss. & BIOS BN JHIT°® esgeone.

5000 &85 388 &5y 5000 AR
S0& Saegred 8r°. 80 &) 0058
585%, (30 &0, 50 2.8 aHoeRess

(&K Boye0 8°. 15 8 0He58
@»&gé By 8. 50,000 (50%) (S’géo)

S8Tr0d PLdyen 8. 60,000 (5Y)

4)  Explain the scope of cost accounting.

5506.) @8 0e3oR ABoo%), SBH DIBowoS0.

5) State different methods of allocation of cost.

Sgadaion Ser 00003 DD bgéaen SenHdo.

SECTION-C (2x 20 = 40)

Answer Any Two Questions

6) Product X is obtained after it passes through three distinct processes. You are required to

prepare process accounts from the following information.

Process
Total | 1 Il
Rs. Rs. Rs. Rs.
Materials 15,084 5,200 3,960 5,294
Direct wages 18,000 4,000 6,000 8,000

Production overheads 18,000
1000 units @Rs. 6 per unit were introduced in process |. Production overhead to be
distributed as 100% on direct wages.

Process  Actual Output in units  Normal loss in input  Value of scrap per unit
Process | 950 5% 4

Process 11 840 10% 8

Process 111 750 15% 10



X o3 3P oo RN GRTe $oUEow, $0PEY IHY IWoB. PR PrETOD SIS

SoHosm.
b
380 | I I
&oe. 8oe. &oe. 8oe.
5366@5(3 15,084 5,200 3,960 5,294
L:.Séés\ﬁémw 18,000 4,000 6,000 8,000
&$\8 L35G, 18,000

B0 1 &° e85 8 6. 6 denSKe 1000 aHrrded [E3FbwdTron. 88 838 wED IsTep

100% 0‘°a>é&)593¢6.).

8103 BRY) FAIPT*BHI0 D0LOSBIBIIE.

BeRR afoen B33 AR’ AR5 2.8)06838 BK).S
AGeBes SJ B0 Dews 8.
& | 950 5% 4
@0 | 840 10% 8
@an 11 750 15% 10

7)  State the essentials of a good report.

RSB DIBE s, eSHseen BevHs.

8) Elucidate the uses of learning curve analysis.

OO (S8 BY, BATETed DIBLBoDI.

9) The balance in a company’s WIP Control Account as on 31% March, 2005 was Rs.

5,00,000. During the following month, the transactions that took place were as thus:-

Rs.
Direct wages incurred 60,000
Direct materials issued 2,80,000

Completed work billed at cost 5,25,000



Factory overhead incurred 1,20,000

Special purchases for Job 12,000
Sub-Contract charges 6,000
Direct expenses 9,000
Material returned to stores 4,000

You are required to write up the ledger accounts and state what is final balance represents

in cost books.

31-3-2005 & $0ir8S° &%) 3D Daposes grars® &) deg 6. 5,00,000. #0358 30" $Sogdodis

seggSeraren (808 dgon & a0.

8oe.
390D (S Sseen 60,000
8 wand [S¥gg 5008 Saegred 2,80,000
Sgoo esgrone e‘f)e)g SohardS H°8 @0 I 5,25,000
390D 8B 58°% Sgowren 1,20,000
6 §°%0 [B&g8ore SRR’ 12,000
&3 (38) S0y Tfen 6,000
585% Sgoiren 9,000
5380)3 TS0 DS S0 SEegren 4,000

DB WIT R ST IV, Y oS’ &od SoRoDH Dogh DF7)S0d.

- o e
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M.Com. (Final) DEGREE EXAMINATION, DECEMBER - 2015

Time : 03 Hours

Second Year

A-ACCOUNTING

Paper - V : Taxation

Maximum Marks : 80

1)

b)

d)

f)

9)

h)

PAN.

am‘-{sé P°J° K)ogpé.

Total income.

B0BI0 STPAHID.

Registered firm.

ARATPLD @O :\’)og.

Prosecution.

3,

Vacancy allowance

P 2@300.

Profession

-0

598.

Perquisite.

S8e8).
@

Transfer of asset.

e 289.

SECTION-A

Answer Any Four of the following

(4 x 5 = 20)



2)

3)

4)

SECTION-B (2x10=20)
Answer Any Two of the following

Explain the relationship between residential status and incidence of tax.

ATIDBSE, :6:‘6.)& AGoHe m(§§ X)oa)ocr&)& DIB0owWoS0.

Mr. Ramesh is doing business in Hyderabad. His income from business is Rs. 2,60,000 and
Rs. 20,000 from capital gains. He is residing in a rented house with a rent Rs. 3,000. He
satisfied all conditions. He contributed Rs. 50,000 to national defence fund. He deposited
Rs. 20,000 in LIC scheme for the benefit of a mentally retarded dependent. He paid Rs.

15,000 as mediclaim premium. Calculate his taxable income.

3. BRI 5?3% ST SHS” o0 3.‘6_.36:1633. O Tg@eBo oD B 2,60,000. 835"&5 Soce
P00 ergre How 20,0000 esa"o‘.ir"f\')& DeoHE. AOX B°. 3,000 eag 5%):1{3 X);T"X)anoé.nm&cﬁ). bte1 191}
)0B8R $,3 58T°c>. 0BH 8D B G 8. 50,000 IQoToe. WrSVE PEeg8E® BI3E eErsSg
(w050D) 558 esies §°50 8. 20,0000 LIC 28 35508° GRS Ik, edi $IPS ém&a&

o P 8. 15,000 H>EZ00D (BL0bHo BYoT . @B 550y IFosT earaird) 8§ osod.

Prasad is working as a manager in a multinational company in Hyderabad. His income and
expenses for the previous year is as follows. Calculate his income:

a) Salary Rs. 1,08,000.

b) Bonus Rs. 12,000.

c) Company spent on his gas, electricity and water bill Rs. 6,000.

d) Rent paid by company for furnished house Rs. 7,800.

e) Amount deducted from Prasads salary towards rent Rs. 12,000.

f)  Value of furniture (TV, Refrigerator, Washing machine, A/C) Rs. 50,000.
g) Investment in government approved mutual funds Rs. 12,000.

h) Insurance premium paid Rs. 3,000.

1)  Investment in NSC Rs. 18,000.

j)  Contribution to recognised provident fund Rs. 24,000.

k) Investment in infrastructure bonds Rs. 15,000.



5)

6)

7)

8)

58 o3 38 Isdr o8 MNC &° raoearcrd® 50 3y, 86 808 dSBI0e o°0° @nn 206

X)o:.ﬁé“)c"bg SN Ke303083.

a) &go . 1,08,000.

b) &% 8. 12,000.

C) 5o 3o ™R, DkogisE, e Deyeo Ao or. 6,000.

d) ;6&.3555 S bovo)e.» 3D &S P98 abesird 39odS o8 8. 7,800.
e) &&'R B80S ©f Bors $R0DS Ingo 8. 12,000.

f) 58,55 dens (6. D, 8BS, TR 23S, D) &rr. 50,000.

g) 5O 8RB0 08N mém;es ;O&Qess depad 8. 12,000.

h) 228 D Boabo 3o 8. 3,000.

i)  &8ab 2P X)g§>§¢5e>§_> depad se. 18,000.

j) 180D D083 FISNE graes’ 390 8. 24,000.

k) =d P55 mvocgess depad g, 15,000.

State the rules relating to advance payment of tax.

Savodome :»m& I‘.')Qomeoé) ¥020800% DVO0PIL BeVHIN.

SECTION-C (2x 20 = 40)

Answer Any Two of the following

Explain the powers of ITO.

ITO 3%, efscoren I$58oB08.

Bring out the deductions allowed while computing total income.

BoFB00 eseeaDE0 K306’ @SB SRoHed BenYHIN.

From the following information, compute total income of Mr. Surya for the current

assessment year:



)
K)

Interest on tax free Govt. securities Rs. 15,000 (net).
Interest on tax free debentures of X Ltd. Rs. 8,900 (net).
Interest on tax free debentures of Y Ltd. Rs. 7,800 (net).
Interest on debentures of Z Ltd. Rs. 12,000 (gross).
Lottery winnings Rs. 60,000 (gross).

Dividends from Indian companies Rs. 65,000 (gross).
Dividends from foreign companies Rs. 45,000 (gross).
Interest from bank deposits Rs. 10,000.

Rent from sub let house Rs. 3,000 forg portion (actual rent paid for the entire house

Rs. 5,000 p.m. actual repairs Rs. 1,500)

Management consulting fee Rs. 45,000.

Rent from letting of plant and machinery including buildings and furniture Rs. 60,000
(ordinary repairs Rs. 40,000. Insurance premium Rs. 1,000, depreciation Rs. 6,000).
He claims the following deductions:

i)  Collection charges of interest Rs. 1,200.

i)  Collection charges of lottery winnings Rs. 2,000.

iii) Lottery tickets purchased Rs. 6,000.

iv) Interest on loan to purchase shares in foreign companies Rs. 1,800.

(SRR B350y ATBEd $0SEBH00 Koy Ao esrealrdy 808 dSore esgeson 88 050!

a)
b)
c)
d)
€)
f)
9)

h)

330,89 [Beoss p&rBleR I8 3¢ e, 15,000.
X OWBE 33 83 &Bos8p VB 36 &or. 8,900.
Y OD8& 33y 83 &Bosgp J8B 36 &or. 7,800.
Z 90838 &Bougd vre 38 8. 12,000.
o0286° Rend083 dye Ao 8. 60,000.
eERaH Sonde Hod Rye &2&ock 8. 65,000.
D33 Sonde o Ry &:)aocﬁg soe. 45,000.

a0 Greed $6 &or. 10,000.



9)

. 1
) &5 B8\ KR S0od — S 8 39y @@ 8oe. 3,000 (Sovso Ky 3808 390D TPHIE @d Ao
Q !) Q) -0 3 () Q ) o) ™ ) Q

8. 5,000, 338 So858en & 1,500)
D) DBgres ded* Brosw 8. 45,000.

K) gSaeen, :{;8&66055 B 0B83d5 Jrotw, abolEre Hod o trr. 60,000 (Rgeses 8Sysen

&o°. 4,000, DI BW0Ho &, 1,000, $S1HEe &, 6,000)
0@ §°QBR, SRoHeo:

i) éé Soren T°8en &v. 1,200.

i) ©°086° RewdroB8: 308308 SKren TGen &, 2,000.
i) ered 638 e0 E°XoRew 8. 6,000.

iV) 288 502des® Tere SHRen 55% 8D, aosop 3¢ &r. 1,800.

X Co. Ltd., a domestic company and in which public are substantially interested submits

the following particulars of its income for the previous year,
a)  Income from manufacturing of industrial machinery Rs. 2,31,000.
b)  Dividends (Gross from Indian co.) Rs. 60,000.

The Company has paid Rs. 42,000 donation to Chief Minister’s Relief fund and 5%

commission for realising dividend income. Compute the tax liability of the company.
X 802D dQBE [SueH LI Toerend BcBE S0, K8 $058,0°08 & 308 IO ©0BI08.
a)  DeBEPWE aboEren $0L°8 od esaraHsw K. 2,31,000.

b) 25 xe88aH S0 Ho0d &G0k (Rpesn) &r. 60,000.

&s 502 é.)oapéé)o@ma IPaHAGE B, 42,000 © TSI BHE DB &K)Ezocﬁg J3oeens 5%

S IY0DIB. LoD Y B B 0.



